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System: Closed Loop r to y
I/O: r to y
Settling time (seconds): 51.6

System: Closed Loop r to y
I/O: r to y
Rise time (seconds): 29
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I/O: r to y
Peak amplitude: 1.7
Overshoot (%): 71.5
At time (seconds): 5.7

System: Closed Loop r to y
I/O: r to y
Settling time (seconds): 64.3
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System: Closed Loop r to y
I/O: r to y
Rise time (seconds): 2.44

System: Closed Loop r to y
I/O: r to y
Settling time (seconds): 4.34

System: Closed Loop r to y
I/O: r to y
Final value: 0.999
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Peak amplitude: 1.14
Overshoot (%): 14.2
At time (seconds): 0.704

System: Closed Loop r to y
I/O: r to y
Rise time (seconds): 0.246 Kp=30, Ki=10, Kd=20
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Step Response

System: Closed Loop r to y
I/O: r to y
Peak amplitude: 1.21
Overshoot (%): 34.7
At time (seconds): 18

System: Closed Loop r to y
I/O: r to y
Settling time (seconds): 61.2
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Peak amplitude: 1.9
Overshoot (%): 90
At time (seconds): 1.81

System: Closed Loop r to y
I/O: r to y
Settling time (seconds): 65.5

Kp=10
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Step Response

System: Closed Loop r to y
I/O: r to y
Peak amplitude: 1.03
Overshoot (%): 2.74
At time (seconds): 0.239

System: Closed Loop r to y
I/O: r to y
Rise time (seconds): 0.0671 Kp=110, Ki=10, Kd=100
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